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Addition and Subtraction Word Problems

13 Jason picked fve apples and Mary picked seven apples from the apple tree. Tim
picked two pears from the pear tree. How many appleswere picked in total 7

23 A restaurant served 8 salads during lunch and B during dinner today .
It served 3 of them yvesterday. How many salads were served today

33 Jessica has eight wiolet balloons and seven green balloons. She lost two of the
wiaglet balloons. How mary wiolet bhalloons does Jessica have now ¢

43 There are six pine trees and three maple trees carrently in the park. Park workers
weill plant twwo miare pine trees today. How many pine trees will the park
haw e when the workers are finished 7

5% There were a tatal of 8 hackey gamesthisyear, B are played at night. Benny
missed 2 of the games. How many hockey games did Benmy go to in total

E) There are B crayvons and 7 erasers in the drawer. Mike placed 5 more
crayvons in the drawer. How many crayons are now there in total ¢

7Y Joan had ¥ pennies and 9 dimes in her bank. Her sister borrowed 3 dimes.
Howy many dimes does Joan have now 7

83 Fred found eight seashells and seven starfish, but two of the seashells were broken.
Howy many unbroken seashells did Fred find ¢

93 Sam's dog had eight puppies and three had spots. He gave four to his friends.
Howy many puppies does he now have ¢

1070 Sally grew 4 pumpkins and B cantelopes. Melanie grew 2 pumpkins.
Howy many pumpkins did they growe in all 7
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